
Element of and subset of

A very common confusion is that between the 2 and ✓. Here is an attempt at clarifying
that via an example (the zybook has some too).

Consider the set S = {CIT, ⇡, {apples, bananas}}
What are the elements of this set?
An element of the set is a single item inside the set. So the elements are

1. CIT

2. ⇡

3. {apples, bananas}

And YES, one of the elements is this weird set of some fruit.

What are the subsets of this set?
This questions becomes easier to answer now that we have answered the elements ques-

tion. Subsets after all are made by collecting none, some or all of these elements and putting
them between { and }, that is, making a set out of them.

So here are all the subsets

1. ;

2. {CIT}

3. {⇡}

4. {{apples, bananas}} - this one is slightly tricky, but just think of the apples and
bananas set as this one single entity.

5. {CIT, ⇡}

6. {⇡, {apples, bananas}}

7. {CIT, {apples, bananas}}

8. {CIT, ⇡, {apples, bananas}}

Venn diagrams

A Venn diagram is just a pictorial representation of a set.
Generally speaking, we draw one big box for the universe. The universe can be di↵erent

depending upon the context being used. For instance, with the numbers (especially in this
course), it makes sense to think of the universe as R.
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